Calculus 2.1 — 2.4 Notes

Find the limit showing the work.
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Explain the three different possible answers for Bill Gates.
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There are no vertical asymptotes only holes at x = 1.

There is no horizontal(use Bill gates).



What are the four types of discontinuities? Use graphs to describe them.
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What is the easiest way to see if a graph is continuous?

If the graph is continuous, you will not have to pick up your pencil.

What are the three mathematical conditions to show that a function is continuous?
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Is f(x) = xx+_44 a continuous function? Explain why or why not.
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Yes. It is continuous within its domain.
Create a function that has a removable discontinuity and then remove the discontinuity.
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If lim,_,,+ f(x) # lim,_,- f(x) then lim,_,, f(x) does not exist.



Draw a graph with the following conditions.
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Find the derivative of the following functions using the definition of the derivative.
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Find the equation of the tangent and normal lines to the curve y = x3 + 4 at x = 2.
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Whenx =2,m=32)2 =12,y = x3+4=234+4=12
(2,12) m=12 y—12 =12(x — 2) isthe tangent line

y—12 = —1—12(x — 2) isthe normal line



